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AP Chemistry Period

Molarity Madness #3

1. Which beaker described below contains the greatest number of moles of Ca**?

Beaker A: 150 mL of 0.10 M CaCl, (‘/o) {/ﬂ) = .o/ Awés a 27
Beaker B: 120 mL of 0.20 M Ca(NO3), (Zo)//k) - 027 mé} &2+

Beaker C: 24 grams of solid CaCl,#2H,0 dissolved in 500 mL of tap water
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2. What is the molarity of a solution if 132 grams of KNOj is dissolved into 0.650 Liters of water?
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3. What is the final molarity if 300 mL of 1.2 M HCl is diluted to a final volume of 600 mL?
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4. A 150 mL sample of 0.10 M Pb(NOs), solution is added to 360 mL of 0.15 M Nal solution. What are
the concentrations of the ions remaining dissolved in solution?
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5. A person seeks to prepare 750. mL of 0.300 M CuSOy solution from the solid hydrate, CuSO4e5H;0.
How many grams of the hydrate should be added to prepare the desired solution?
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6. If 15 grams of KCl is mixed with 350 mL of water containing 80 grams of K,SO, what are the final
concentrations of the ions?
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7. A 160 mL sample of 0.10 M Ca(NOs); solution is added to 90 mL of 0.20 M Na,COj3 solution. What
are the final concentrations of the ions that remain dissolved in solution?
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8. What is the final molarity if 155 grams of MgSO4e7H,0 is dissolved to prepare 8§50 mL of water?
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